2 RARE=SIVTBRERR

Eith & H #5R (Baske)
NO | WG | WERR | WEH | oey il samw) | mme |y REA (e, 290, 2HRE il BEE | G | wmn | 014 | o197 | ostE
1 %f”ﬁb,j BER Rl B & RRAT SEE REY XK — BERRRRE - Ge H24.11.28 | H24.11.30 | 815 148 23
o |FBE | mem | Buw IBsEREH FRES | mED %k - EBRBELE S Ge |Hoaii2s|H2atizo| 708 | 859 16
3 %f”ﬁb,j BER Rl B & RRAT SEE REY KK — BERRRRE V- Ge H24.11.28 | H24.11.30 | 387 9.71 14
o |REE | men | Busm IBsERRH FRES | mED %k - EBRBELE S Ge |Hoaii2s|H24tizo| 614 | 117 18
5 %fﬁb,j rER T — ERBR BEY *H — BERRRRE V- Ge H24.11.30 | H24.11.30 | <96 <86 <18
6 %f‘ffp,j BER B — SERE BEY Lo — BERREREEVS— Ge H24.11.30 | H24.1130 | <72 <64 <14
7 %fﬁb,j rER T — ERBR BEY *H — BERRRRE V- Ge H24.11.30 | H24.11.30 | <64 <13 <14
8 %f‘ffp,j BER BT — SERE BEY *H — BERREREEVS— Ge H24.11.30 | H24.1130 | <67 <15 <14
9 %fﬁb,j BER HAtH — B BEN B! — BERRRBEEVS— Ge H24.11.30 | H24.11.30 | <83 <85 <17
10 %f‘ffp,j BER BT — SERE BEY Lo — BERREREEVS— Ge H24.11.30 | H24.1130 | <11 <76 <19
11 %fﬁb,j rER T — FERBER BEY Eao — BERERRRE V- Ge H24.11.30 | H24.11.30 | <86 <74 <16
12 %f‘gﬁp,j BER B — SERE BEY *H — BERREREEVS— Ge H24.11.30 | H24.1130 | <77 <70 <15
13 %fﬁbd rER :Eany — ERBER BEY *H — BERERRRE V- Ge H24.11.30 | H24.11.30 | <73 <6.9 <14
14 %f‘gﬁp,j BER B — SERE BEY Lo — BERREREEVS— Ge H24.11.30 | H24.1130 | <77 <82 <16
15 %fﬁbd rER T — MBS BEY *H — BERERRE V- Ge H24.11.30 | H24.11.30 | <78 <74 <15
16 %f‘gﬁp,j BER B — SERE BEY Lo — BERREREEVS— Ge H24.11.30 | H24.1130 | <7.1 <6.2 <13
17 %fﬁbd rER (=ny — ERBER BEY *H — BERERRRE V- Ge H24.11.30 | H24.11.30 | <M <86 <20
18 %f‘ffb,j BER ARl — SEE BEY *H — BERREREEVS— Ge H24.11.30 | H24.1130 | <70 <66 <14
19 %fﬁbd rER ERilih — FERBER BEY 45 — BERERRE V- Ge H24.11.30 | H24.11.30 | <80 <78 <16
20 %f‘ffb,j BER ARl — SERE & BEY Lo — BERREREEVS— Ge H24.11.30 | H24.1130 | <85 <6.7 <15
21 %fﬁbd rER ERilih — ERBER BEY 45 — BERERRRE V- Ge H24.11.30 | H24.11.30 | <95 <6.9 <16
22 %f‘ffb,j BER ARl — SERE BEY *H — BERREREEVS— Ge H24.11.30 | H24.1130 | <75 <63 <14
23 %fﬁbd rER RURET — FERBER BEY 45 — BERERRRE V- Ge H24.11.30 | H24.11.30 | <81 <71 <15
24 %f‘gffb,j BER BJIET — SERE BEY *H — BERREREEVS— Ge H24.11.30 | H24.1130 | <82 <72 <15
25 %f”ﬁb,j BER FEF — ERBER BEY *H — BERRRRE V- Ge H24.11.30 | H24.11.30 | <57 <63 <12
26 %f‘ffp,j BER = ST — FETLE R BEY Bl — BERREREEVS— Ge H24.11.30 | H24.11.30 | <99 <84 <18
27 %f”ﬁb,j rER = AT — ERBEmR BEY 45 — BERRRRE TV Ge H24.11.30 | H24.11.30 | <6.2 <57 <12
28 %f‘ffp,j BER = ST — FETLE R BEY Bl — BERREREEVS— Ge H24.11.30 | H24.11.30 | <87 <79 <17
29 %f”ﬁb,j BER = AT — ERBEmR BEY *H — BERRRRE - Ge H24.11.30 | H24.11.30 | <9.0 <78 <17




Ei L] #5832 (Ba/kg)

No | e TH | o e | e . B sz | ZBE | BR | ooim | corr | cems
30 %f”ﬁb,j FEm — FERE MR — EEREERE VS Ge H24.11.30 | H24.11.30 <92 <6.6 <16
31 %f‘ffp,j fFE — FRE MR — EERBRERE S Ge H24.11.30 | H24.1130 | <74 <80 <15
32 %:%,ff 7 FEIEAS — B — BEEREERE VS Ge H24.11.30 | H24.11.30 <M 7.88 7.9

33 %fﬁ))ﬁ EEAT — FERER — EERBRERE I Ge H24.11.30 | H24.11.30 <11 <82 <19
34 %fﬁ),,j ZAMT — B — EEREERE VS Ge H24.11.30 | H24.11.30 <170 <72 <14
35 %f‘ffp,j LWhET — FFERE MR — EERBRERE I Ge H24.11.30 | H24.11.30 10.2 <84 10

36 %fﬁb,j BT — B — EEREERE VS Ge H24.12.1 | H24.12.1 <938 <85 <18
37 %f‘ffp,j Bt — FERE R — EERBRERE I Ge H24.12.1 | H24.12.1 <13 <6.5 <14
38 %fﬁb,j BT — B — EEREERE VS Ge H24.12.1 | H24.12.1 <88 <56 <14
39 %f‘gffp,j Bt — FERER — EERBRERE S Ge H24.12.1 | H24.12.1 <9.7 <76 <17
40 %fﬁb,j BT — B — EERBEERE VS Ge H24.12.1 | H24.12.1 <63 <15 <14
41 %f‘gffp,j BT — FERER — EERBRERE I Ge H24.12.1 | H24.12.1 <93 <817 <18
42 %fﬁb,j BT — B — EEREERE VS Ge H24.12.1 | H24.12.1 <176 <16 <15
43 %f‘gffp,j Bt — FERER — EERBRERE S Ge H24.12.1 | H24.12.1 <12 <11 <20
44 %fﬁb,j BT — B — EEREERE VS Ge H24.12.1 | H24.12.1 <86 <6.7 <15
45 %f‘gffp,j BT — FERER — EERRERE I Ge H24.12.1 | H24.12.1 <94 <84 <18
46 %fﬁb,j BT — FERE M — EEREERE VS Ge H24.12.1 | H24.12.1 <174 <6.9 <14
47 %f‘gffp,j Bt — FERE R — EERBRERE I Ge H24.12.1 | H24.12.1 <9.0 <6.2 <15
48 %fﬁbd R WRHET — B — EEREERE VS Ge H24.12.1 | H24.12.1 <87 <78 <17
49 %fﬁ;yj K WRHET — FERER — EERBRERE S Ge H24.12.1 | H24.12.1 <11 <64 <14
50 %fﬁbd R WRHET — B — BEEREERE VS Ge H24.12.1 | H24.12.1 <80 <712 <15
51 %fﬁ)yj K WRHET — FERER — EERRERE I Ge H24.12.1 | H24.12.1 <9.0 <71 <16
52 %fﬁbd R WRHET — B — BEEREERE VS Ge H24.12.1 | H24.12.1 <95 <78 <17
53 %fﬁ)yj K WRHET — FERER — EERBRERE I Ge H24.12.1 | H24.12.1 <64 <6.9 <13
54 %fﬁb,j AJIET — B — EEREERE VS Ge H24.12.1 | H24.12.1 <80 <6.9 <15
55 %f‘gﬁfp,j AJIET — FERER — EERBRERE S Ge H24.12.1 | H24.12.1 <95 <88 <18
56 %f”ﬁb,j SRIBHHS — B — EEREERE VS Ge H24.12.1 | H24.12.1 <15 <6.4 <14
57 %f‘ffp,j SRIBHA — FERER — EERRERE I Ge H24.12.1 | H24.12.1 <8.1 <15 <16
58 %f”ﬁb,j SRIBHHS — B — EEREERE VS Ge H24.12.1 | H24.12.1 <72 <72 <14
O eyt SRIBHA — FERER — EERBRERE I Ge H24.12.1 | H24.12.1 <11 <88 <20
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